

Ejeh Ochigbo Emmanuel

16/ENG05/1017

Mechatronics

Engineering Mathematics

1.  $y = e^{x^2+x}$

Let  $x^2+x = u$

$y = e^u$  ;  $\frac{dy}{du} = e^u$

$u = x^2+x$        $\frac{du}{dx} = 2x+1$

$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx} = (2x+1)e^u$

$\therefore (2x+1)e^{x^2+x}$

$\frac{d^2y}{dx^2} = y'' = u \frac{dv}{dx} + v \frac{du}{dx}$

$u = 2x+1$        $\frac{du}{dx} = 2$

$v = e^{x^2+x}$        $\frac{dv}{dx} = (2x+1)e^{x^2+x}$

$y'' = (2x+1)(2x+1)e^{x^2+x} + e^{x^2+x}(2)$

$\therefore y'' = (2x+1)y' + 2y$

ii

From  $y''$

$$y^{(n)} = (2x+1)y^{(n-1)} + 2(n-1)y^{(n-2)}$$

$$y^{(n+2)} = (2x+1)y^{(n+2-1)} + 2(n+2-1)y^{(n+2-2)}$$

$$= (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

2:  $y = x^3 e^{4x}$

$$\sum_{r=0}^n {}^n C_r U^{(n-r)} V^{(r)}$$

$$V = x^3, V^{(1)} = 3x^2, V^{(2)} = 6x, V^{(3)} = 6, V^{(4)} = 0$$

$$U = e^{4x}, U^{(1)} = 4e^{4x}, U^{(2)} = 16e^{4x}, U^{(3)} = 64e^{4x}, U^{(4)} = 256e^{4x}$$

$$y^{(5)} = U^{(5)} V + 5U^{(4)} V^{(1)} + 5C_2 U^{(3)} V^{(2)} + 5C_3 U^{(2)} V^{(3)} + 5C_4 U^{(1)} V^{(4)}$$

$$= U^{(5)} V + 5U^{(4)} V^{(1)} + 5C_2 U^{(3)} V^{(2)} + 5C_3 U^{(2)} V^{(3)} + 5C_4 U^{(1)} V^{(4)}$$

$$= 1024e^{4x} x^3 + 5(256e^{4x})(3x^2) + 10(64e^{4x})(6x) + 10(16e^{4x})(6) + 5(4e^{4x})(0)$$

$$= 1024e^{4x} x^3 + 3840e^{4x} x^2 + 3840e^{4x} x + 960e^{4x} + 0$$

$$y^{(5)} = e^{4x} (1024x^3 + 3840x^2 + 3840x + 960)$$

ii  $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

Show that  $x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^{(n)} = 0$

$$x^2 y'' + xy' + y = 0$$

~~$$y^{(n)} = \sum_{r=0}^n {}^n C_r U^{(n-r)} V^{(r)}$$~~

ii For  $x^2 y'' = y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2!} y^{(n)} x^2 + 0 \dots$

For  $xy'$ , Let  $u=y'$  and  $v=x$

$$x'y = y^{(n+1)} x + n y^{(n)} + 0 + \dots$$

For  $y$ ,  $y = y^{(n)}$

$$x^2 y'' + x y' + y = 0$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + (n^2 - n) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)}$$

Collecting like terms

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - n + n + 1) y^{(n)} = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$

$$\therefore [x^2 y'' + x y' + y] = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$